
 

There are 360 people watching a film. 

There are 197 adults watching the film. 

How many more adults than children 
are watching the film? 

 

Work out the missing numbers. 

50% of              = 30 

25% of               = 30 

         
2

3
 of               = 30 

 

 

KS2 Problem of the Day 

Monday 5th March 2018 

1 Five lampposts are equally spaced 
along a road. 

 

 

 

 

 

The distance between the first and 
last lamppost is 320 metres. 

How many metres are there between 
the second and last lampposts? 

2 

320 metres 
3 


